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paper is very limited, you should make the €, 39 \GIQ EOEdl aﬁmatr\ I HTE AR fa’?ﬁ
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- gifar girger ge
SCHOLASTIC APTITUDE TEST
T TIE-TF § FA 90 W ¥ | UA® WA TH IF FT L
THERE ARE 90 QUESTIONS IN THIS PAPER.
EACH QUESTION CARRIES ONE MARK.

| T = 2R T & gEER UY T TR R A ° ¢ T O 81T e 6

=TT ( Q)%‘Fﬁ
t 27R
M 55 | @ —
2 . .
(3) LEi ' (4) 2nR.t.

t
A person takes time t to go once around a circular path of diameter 2R. The

speed ( v) of this person would be

t 27R
Mg o 2
2 |
@ 2o | (4) 2Rt

) t
2. zkgmﬁwaﬁ@%ﬁwﬁw10m/sé?wwméﬂ@w%@ﬁnﬁnm
¥ o W HERE Ui o @ | o
(1) '20N | (2) 10N
(3) 2N @) T

A body of mass 2 kg is moving on a smooth floor in straight line with a uniform

velocity of 10 m/s. Resultant force acting on the body is

/(/Y)/20N ’ @ 10N

3) 2N . (4) zero.
3. TE & S.I AEH E
(1) Nm? =~ (2) N/m?

@) m?/N - (4 N/m. o
NTSE(I)/15 — SAT . ' [P.T.O.
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The S.I. unit of pressure is

\\J (1) N.m? vaa/N/m2
[

3) m?/N | | 4) N/m.

4. %ﬁﬁwﬁaﬁaﬁa@ﬁsom%l%@ﬁmﬁmm g//
jC

() 50 A ’ (2)' 300 ‘ o
(3) 3000 (4) 30000. @c\?@ |

The frequency of a source of sound is 50 Hz. How many times ‘does. it vibrate in

one minute ?
(1) 50 . : | (2) 300
| (3),3000 ' (4) 30000.
5. 50kgawqﬂwwwﬁﬁ@qmwaw4ouﬁﬁﬁésecﬁm%laﬁm@é’
aﬁﬁélscmaaﬁwﬁwﬁﬁgﬁ(wﬁg—lom/s )

(1) 300 W | (2) 500 W
(3) 600 W T T 1000 W,
‘" -

A person of mass 50 kg runs up to staircase of 40 steps in 6 sec. If the height of

each step is 15 cm, then his power will be ( If g= 10 m/s )

300 W (2) 500 W

| (3) 600 W - (4) 1000 W.

6. meﬁa@ﬁmiﬁf%mﬁzﬁw(n:%)ﬁ@ﬁfé‘ﬁiwﬁwiﬁﬁ

» 40
 r | @ 3f &
‘ _ —
3 | i@@éx
© 7 4. 3/”“@
S 0 L,
NTSE(I)/ 15 - SAT \QS 50 ]



(5) SAT-3

The focal length of a concave mirror in air is f. If it is immersed in water (n = g]

then the focal length will be

(1) f- v
5 ‘
(3). el 4) 4f

7. U BH Y I o §R1 o F Refat & fog wiafes s o & fevor fae wiiem @)

el AT

Yo
- (A) FIR2F & &9 c=
(B) F W
(C) 2F W

(D) F #R ehiE s % |
i & o Ry 3 fore sl o st g et 2, a8 &
(1) B 2 A

3 C | 4) D.

A student was asked to draw a ray diagram for formation of image by a convex

lens for the following positions of the.object :
(A) betWéen Fand 2F
(B) atF
(C) at2F
(D) | between F and optical centre.

The position for which virtual image can be formed among these is

(1) B @ a
3) C 4) D.
NTSE(1)/15 - SAT o ' [‘P..T_.O.
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NT

feat T gy fag A @ B % S Qo TR T A g

. R R

A®

R
B
R R
A . 4R
1) 6R @ 7
11R - | : R

(3) el O

The value of equivalent resistance between the points A and B in the given circuit,
will be

@) —— | @

pa—
—t
]
olx

et Frre oz < @ e s B QX g W & W 75 om T W ¥ 5 W A
(1) Wﬁﬂ,-l;ssn N (2) Ot @i, - 1.33 D

(3) 3&de &id, +1.33 D (4) 3Iqd o9, + 1.33 D.
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The far point of a myopic person is 75 cm in front of the eye. The nature and

po_w'cr'of the lens required to correct the problem, will be

(1) convexlens, - 1.33D ‘ ,Mncave lens, - 1-33 D

: {3) concave lens, + 1-:33D (4) convex lens, +‘ll-33 D.
J 10, =¥ T fo # uF e R g o § 89 o ofme vae Hal 2 TR W
: FA 5o o feen g |
; L
> g &
> 2
> R
v .
S R S®
| | S o
(1)  @rdl #w ' (2) THET AR
(3) T H ST i IR A FY @) W@mﬁaﬂimﬁg@ 21 oF |

An electron enters in a magnetic field at right angle to it as shown in figure. The

direction of force actiﬁg on the electron will be

Magnetic field

v v ¥ v ¥

v
Electron

(1} to the left : N ~ (2) to the right ‘

M of the page (4) into the page.

11, afs frel ey & < frgell & 9 1 C oPY & T g @ g g e o o |

1 J v foran Siran & &, 39 <1 feget & o fawerw g
(1) 1V | T2 4V
(3) 8V @ I
NTSE(])/15 ~ SAT ' ' { P.T.O.



SAT-3 (8)
When 1 J of work is done to move a charge of 1 C from one peint to another point

then the potential difference between two points in a given circuit will be

eg}/lv 2) 4V
3 8V o ' (4) zero.

12, foelh o # ww WA H S B 2‘00@%@%%!%%@6&%'
(1 36x 1010 ' | (2) 72x 1019

(3) 36x 108 (4) 72x 108,

[

n joulcs will be

() 36 x10%° N (2) 7-2x 100

3) 36x10% : (4) 72x10%.

—

»13. aﬁéﬁ%eﬁmmmﬁﬁw—zﬁwgmﬁqﬁamwéhﬁm ?

(1) Ag (2) Hg
®) Zn (4) Au.
On addition of which metal the blue coloured copper sulphate solution turns into

colqurless solution ? : v _

1) Ag | (@ Hg - |
/g)/ Zn : 4) Au. ' (/u& O l”
14, HIPH ) T St & SeH wEE S IUPAC TH

(1) T&FH : | (2) SOATA

(3) AEAM - (4) WO

[UPAC name of the first member of homologous series ‘of ketones is
(1) Ethanone _ (2) Propanol
Methanone , (4) Propanone.

NTSE(I)/15 - SAT

A certain household has consumed 200 units of energy during a month. Its value '

16.
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ue

16.

17.

_(1) acidic (2) basic N%(D

(9) | SAT-3

Hifsas e &1 o1 | Gier W faerad st g s
s R RN Ve W f + 1,0

(3) s | (4) 3wEEH '(\)Of'

The nature of solution when sodium carbonate is dissolved in water will be

(3) neutral : (4) amphoteric.

U e A A TN & Ay e e gEy at # ¥ 1 e gaiel soegl e &
(1) T o @ 2

(3) = | (4) @RI

An element A belongs to third period and second group of periodic table._ The

number of valence electron / electrons of element A is

(1) one - (2) two =

(3) three (4) four.

rmwﬁmaﬁw%m HNO,, + KOH - KNO, +H,0 %{aﬁaf@ﬁﬁ@%umm% ?

(1) ITERTOT | (2) fyforemos

(3) TerRoT ug fefere (4) G

The chemical reaction HNO3 + KOH — KNO_3 + HQO is an example of

{1) neutralization

Muble displacement -

NTS

(3) neutralization and double displacement

(4) combination.

E(I)/15 - SAT . [ P.T.O.
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18.

19.

e T 1 pH ¥ ¢, 39 fooiad &1 weid ¢

1) e : (2) @rE
3] IEEE , (4) 3VTEAT

bH of a solution is zéro. The nature of this solution is

/ W cidic - (2) basic

3) neutral (4) amphoteric.

ST 3 U 31U] T IR STk URE % UF S10] A fReeer ST % STU[a o SRR &

5
1) 5 (2) 2
3) 1 - (4) g .

The difference in number of crystalline water molecules in a molecule of gypsum

and a molecule of plaster of Paris is

1) g - | 2 2

3) L ‘ r/(g,)/‘)
2 o 2

U UowhTg B gTegle UWHIUIST i G 4 2, TEH e YA st demr /g 2

o | @ @

3 I (4)

An alkyne has 4 numbers of hydrogen atoms. What will be the number of carbon

atoms in. it ?

1) Two - | }}/T\hree

3) Four {4) Five.

NTSE(I)/15 — SAT
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21. HEHA HAIAEEE F 14gﬁ 3TUTaT Y A B

(1) 12:044 x 10%° (2) 6022 x10%

(3) 3011 x 1023 () 15050 x 1023,

Nﬁmbér of moleéules in 14 g of carbon monoxide is | 2,

(1) 12-044_‘x_1‘8§2"3:~i , W 1023 ’ ' “&

(3) 3011 . 102;3 L | @) . 15050 x .1023. =2

R o C O

22. wﬁuwaaw’aa-smc%,a%amw - O Y |

(1) -193K (2) 193K | |

(3) 353K , @) -353K.

The boiling point of a gas is ~ 80°C. This temperature is equivalent to

(1} -193K MK

(3) 353K (4) -353K.
23. ﬁtﬁ%{?@ﬁﬁﬁaﬁq—w%{ﬂwﬁmmqﬁwﬁm%?

(1) 38 | (2) w=rd foerg | NRFSY

(3) @@ (4) v e ¥O

Which of the following solutions does not show Tyndall effect ?

(1) Milk . (2) Starch solution

M( (4) Sugar solution.

D4, WM, de1 agr Wil S uerd wiad s Hiigeni €
(1) |y
(3), wIH

NTSE(l)/ 15 - SAT
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28.

26.

T-3 (12)

The cell organelle storing substances like starch, oil and proteins is
/Am}_e ‘ . {(2) Lysosome -

(3) Plastid _ (4). Golgi body.
it o e e T |
(1) 3fifere (2) fasRfer

@) | @ i

The horﬁone present in higher concentration in fruits ‘and seeds is

Muxin | | (2) Gibberellin

(3) Cytokinin : _ - (4) Ethylene.
YeRTST WYGINUT & U SYETeds TR §

(1) oo () SRS
(3) EgiH I (4) S
" The substance eséential for photosynthesis is

(1):’ glucose T (2)l oxygen
(3) nitrogen ' (4) water. .

7. Mﬁmﬁﬁ@wwmm%ﬁwaﬂﬁm%

(1) Sersh HIvTE (2) O HrerhId
(3) &l wifersd - ) e RATEAT e
In plants the cells necessary for exchange of gases from atmosphere are

(1) subsidiary cells _ @ bark cells

;/Qﬂ/guard cells R : (4) phloem parenchyma cells.

NTSE(1)/15 - SAT
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The group of amphibian.planfs is
(1) Funarna, Marchantia
(3) Pinus, Cycas

20, TwRRex # o e fAfa T
(1) LPG

(3) CH,

(2) wdiferar, g2
(4) TTEE, BTRIEE |

(2) Marsilia, Horse-tail

(4) Typha, Hydrilla.

(2) CFC

(4) PVC.

The human made synthetic chemical used in fefrigerator is

(1) LPG

(B CH, .
30,/ 3% 2 o WA T IIEI §
(1) =S

@) e

The example of an egg laying mammal is

(1) Bat

(3) Echidna.

31. Wﬁﬁwwmww&ﬁaﬁg@mﬁﬁﬁﬁmw

frem e 2
(1) T&H

(3) UdEmafes

NTSE(l)/ 15 - SAT

(2) CFC

(4) PVC.

(2) =

(4) HTE

(2) Whale

(4) Kangaroo.

(2) IR

(4) Ui | |

~ [P.T.O.
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32.

33

34,

NTS

Which of the following follows a general principle of fooling the immune system by

(14)

putting particular infection into the body ?

(1) AIDS

(3) Antibiotic
Serrer Ofert &

(1) aa wd fow
(3) Mad & sfew

Skeletal muscles are
(1) striaté‘d and voluhtary

(3) striated and involuntary
(1) T 3w

(3) fowror T

Sphygmomanometer measures

(1) wall pressure

(3) diffusion pressure
rsfean feraeT starew & 2
(1) U &1

(3) TS

"'Knightia is a fossil of

(1) tree trunk

(3) fish

SE(I)/15 - SAT

(2)

(4)

(2)

(4)

(2)

@)

(2)

(4)

Vaccination

Antiseptic.

R we tfow
aﬁigaqaaﬁ%@ml

unstriated and voluntary

unstriated and involuntary.

T T

g 31 |

%blood pressure

(4)

(2)

(4)

(2)

(4)

air pressure.

STHIIGRT
SRR U |

invertebrate _

dinosaur _skull.

35.

AR oo

It

36.
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36.

(15)

35, YR Y % T SR BT T ¥

o

21 () (5]

(1) 1 | (2 -1

- (3) 0O ' (4) abc.
‘ 1 b 1
b ) be Clca [ 42 |ab
The value of | 2~ i . % \ is-equal to
oL x€ x% ) x J .

J»/l | o -1

@ 0 (@) abe

37.

5t 3} oo sl @ @4 b %1 HCF &

3) b ‘ @4 1.

' The HCF of any two prime numbers a and b, is

(1) a ' (2) ab

3) b (4) 1.

NTSE()/ 15 - SAT

SAT-3

(1) wzm | (2 iR e
- (3) Wm SEE(C] (4) T |
The method of mechanical barrier to avoid pregnancy is
» Ll)/con‘doms (2) contraceptive pills
(3) surgical methods (4) abortion. |
1 1 | 1

[PT.O.
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38. .sﬁ%ﬂﬁaﬁﬁaﬁﬁ-_ﬁﬁ#wﬁ@ﬁ%
(1) 17 ' (2) 18
(3) 19 ' (4) 20.

The total two-digit numbers which are divisible by 5, are

(1) 17 - | (2) 18
(3) 19 , - (4 20.
59. m%wﬂwwzxzkawb=0é€gﬁ@§ﬂ%%w%a‘rbwm%
1 -1 o | @ -2
(3),' 2' (4) L.

the value of b is

: - -1 | yz é\z“\’lé

(3) 2 | 4 1.

T ) n
| (1) 2 (2) 2
3n : - n
3) — 4y =,

o P

1y = 2 = L
4 2 04[5
3n T

® ;, @ g

~ NTSE(I)/ 15 - SAT

Y

If the roots of the equation 2x% + ax+ b = 0 are reciprocals to each other, then

40. 2IFr:sm(,cwfs’)—cos(A B)?T?ﬁ(A+B)$TﬂW% (SC\’% Q

u@ (%)

(q
.
e

&

41.

42.

AT e D7




, then

42.

43.

(17) ‘ SAT-3

Tfg sin  + sin20 = lﬂacosze+cos46wtﬂ?%

Ifsin6+sin28=1,then the value ofc0328+cos.4eis

(1) 3 | | (2) 2

3y 1. | (4) 0.

T HAR & uR-fag ¥ U weT & YRR @7 399 #I 30° § SR wed & uR-fag @
W%ﬁr@rwwmm’%naﬁtﬁw30m=37a°r3’r,aaﬂa=rﬁ°mé%

(1) 30m _ (2) 20m
(3) 15m . (4) 10 m.

‘The angle of elevation of the top of a building from the foot of tower is 30° and the
angle of elevation of the top of the tower from the foot of the building is 60°. If the
tower is 30 m high, then the height of the building is »

(1) 30m | | -~ (2) 20m

3) 15m | - fﬂ/lOm.

a&vﬁwﬁmsx+y=1,(2k-- )x+ (k- 1)y=(2k+ 1) HIE e Tl goat

FATE 6@? ?/‘?’ =
k >§ rb@ /\Y O
(1 2 , ’Z}/ 3

| oD Wl =
CIET W% W Bea o

Ifthesystemofequatlons3x+y—1 (2k-1)x+(k~-1)y=(2k+1), hasno

solution, then the value of k is

el @) 3 20 =1

(3) -2 6 ¥ P 1. AN \ HRE )
NTSE(I)/15 - SAT @\ G {-{—3 &KN‘[PTO
| = -2k = &lt3
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44,

NT

SAT-3 . ' (18)

T T " Uik GEAnst 1 3red &

(1) 10 2) 11 Q
3) 12 . ‘ (4) 13. 6

The mean of the first ten even natural numbers is

(1) 10 - | M

3) 12 . | 4) 13.

Wqﬁﬁﬁwﬁw%lwﬁwﬁwwmﬁﬁﬁm%

1 1 » -
(1) 5 : (2) 3 _ | | :
1 - 1 ' @ A\
il t G
(3) 7 .(4) 6" _ S
| ~ L0
A die is thrown twice. The probability of the sum being odd, is K
L5 e 2~
(3) : _1 ) \ ‘ g ’ (4) l v )
4 — % e 30

¢

=

A 0 ‘ 0 . - . | ¢ - 'l ' =
46, i< UH IE T TS FT Feredr qun Bivand g € At 3 el F S &
: | ‘ S W
e @otmms gy A
(3) 1  3 o @ 1:1. - | | e
If the heighté and radii of a cone and a hemisphere are same then th@atio of
their volumes is : : ' )
(1) 1:2 2 2:3 12
o oy
3) 1:3 @ 1:1 1 — A
| L 286 LA
SE(I)/15 = SAT ' . W\ \ Y - H@)

o
LTS

== 8 %

-3

—_ e~ 0

48.
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47. W%ﬁﬁmﬁmﬁﬁm6cmWScm%laﬁfflﬁ?ﬁaT%r_ﬁ’@4cm
I g3 W, A qERT Sfar b de gl R
(1) - Scm (2) 4cm
(3) 3cm (4) 2cm. -

I

The lengths of two parallel chords of a circle are 6 cm and 8 cm. If the smaller
chord is at distance 4 cm from the centre, then the distance of the other chord
from the centre is '

(I) Scm (2) 4cm

S (3) 3cm (4) 2cm,

48. A & st A, ABC U §Hag BT €1 fag D, E, F, G, H® [ ¥S13H o FaiAwferd
, %%WW%IH%WABCﬁWtSmﬁ%a}WHHDEFGHIW
% ; AR ¢ > »

W N
/ 0 A%
: \ (5(\ C
<f>7
(1) 3 \/Z’)_ch - 2 4 \/5 c,rn2 9/
: 3) 543cm? ' (4) 643 cm?.
In the figure given below, ABCis an equilateral triangle.. D, E, F, G, H and I are the
trisector points of the sides as shown. If the side of the triangle ABC is 6 cm, then
the area of the regular hexagon DEFGHI is
(1) 343 cm? (2) 443 cm?
(3) 543 cm? (4) 6+3cm?.
L NTSE(])/15 - SAT , , ~ [P.T.O.
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49, & T s #, £ DBC = 22° W £ DCB=78° ¥ @ £ BAC R §

(1) 90° (2) 80°
(3) 78° 4) 22°.

In the given figure, #~ DBC = 22° and £ DCB=78° then / BACis equal to

(1) 904 | M
(3) 78° N 4 227
& T srFhT §, ABC U HETg BT ¥ frea e 243cm ¥1 el & mex faga
D,EaFﬁéaﬂaﬁanasqa@hw%tmﬁame%

.
D ;
B P ¢
1) (4735 Jem® | _— 2on- V5 Jom?
&) %(n—?n/??)cm2 | .(4) Hon -3 Jem?.

. e -

In-
is

th



g3

A e e

b SRl 5

PR as Renis g3 Rt

AL e s

(21) SAT-3

In the given figure, ABC is an equilateral triangle whose side is 2./3cm . A circle
is drawn which passes through the midpoints D, E and F of its sides. The area of N

the shaded region is

c
(1) %(4n—3\/§)cm2 @ %(QH—\/g)ch
(3) ;1} (n«B\/g)émQ (4) %(SK—ﬁ)ch.

51. wwmﬁﬁmum@%méloCm%,ﬁﬁchmmmﬁﬁrﬁfaﬁm

STt & o 99 aredt micia. s d@er €
(1). 135 (2) 270
(4) 1080.

(3) 540

If a cylinder of radius 3 cm and height of 10 cm is melted and recast into the

shapes of small spheres of diameter 1 cm, then the nur_nber of spheres so formed

is
(T35 (2) 270
(3) 540 (4) 1080.

[ P.T.O.

NTSE(I)/ 15 ~ SAT
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52. y=p(x)?ﬂﬁ@ﬂ%ﬂ(W)#ﬁ%m%ﬁaa@ﬁp(xﬁ@ﬁﬁm%

> W

54.

(1) 3 2) 2
3) 1 ' 4) O.

x ) is given below. The number of zeroes of polynomial

The .graph of y = p {

p(x),is
Y
A
xi/ o) X
v
Y/
3 (@)
@ 1 (4)
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53, Toga (7,-5),(3, - 7) ¥R (3, 3) F dieR T A 99 6 I &

(1) (5, -6) (2) (5, -

(3) (3, 2) 4) (3, -2).

v

v

(1) 80° ' @ 35

(3) 45° " @ 6s°.

In the given figure, A ODC ~ A OBA, £ BOC = 115° and Z/ CDO = 80°. Then

Z OAB is equal to

A

v

4
v

(1) 80° | 350
(3) 4s° (4) 65°.

NTSE(I)/15 - SAT

[ P.T.O.



WD

AT-3 | (24)

35. tan 43° tan 45° tan 47° S &

(1) {3 2 L

| (3) 1 4) 2.

tan 43° tan 45° tan 47° is equal to
) 3 @2 =
: , Nz

(3 1 . - (4j 2.
B

6. ‘T GNTH HICH' & A@E &

e

(1) m (2) Wiy

(3) feroreh " (4) oy

The writer of ‘The Social Contract’ is

(1) Rousseau - {2) Montesquieu
(3) Tilak (4) Mirabeau.

57, e S ) aeve § W g
(1) 1518_ﬁ | | (2) 1815H
(3) 19159 - 4) 1819 %

Napoleon Bonaparte was defeated at Waterloo in

(1) 1518 })/18_15

(3) 1915 (4) 18109.
58. AT T HOF T IA TR ‘sieT @ie s R &

(1) i A o @ W@
(3) g @ U H | | (4) O A |
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(25) SAT-3

The world’s biggest stock exchange ‘Wall Street Exchange’ is located in

(1) France b}}/ China

(3) U.S.A. (4) Japan.
59. 14 WIel ¥ %A I O TTGl o [IT T gan WA o

(1) =™ gEw (2) Tt

(3) FTHRH (4) @l

Nazi youth group for children below 14 years of age was

(1) Strom Troopers : ﬁ)_/(;e/'stapo

(3) Jungvolk (4) Ghettoes.

60. q&rﬁgmaﬁﬁgﬁzﬁwﬁa@waﬁm%
(1) gl foeam & (2) =
(3) SR fTehiere

‘Plant more wheat, wheat will win the war’. The statement is of

(4) - Shfe S Traee |

(2) Churchill

P

(1) President Wilson
(3) Tzar Nicholas II (4) Franklin D. Roosevelt.

61. mﬁmﬁﬁmqﬁ@maﬁwwmu&%%mm

(1) A (2) T HT

(3) IRiemet w1 (4) forskex guet 11

The tactful diplomatic alliance between Sardinia-Piedmont and France was

engineered by
(1) Mazzini (2) Cavour
(3) Garibaldi (4) Victor Emmanuel,

[ P.T.O.
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65.

SAT-3 | ' (26)
2. T T afteas’ (1913 ) % St o
(1) TeER o (2) Ty wgrard
(3) TET URT wek | (4) & T
The film ‘Raja Harishchandra’ (1913 ) was made by’
(1)  Gulzar (2) Basu Bhattacharya
(3) Dada Saheb Phalke . (4) C. Ramchandran.

63. WWWWWWWWWW% ?

(1) & e o o (2) e o

(3) =seHT - (4) " ¥3erar)

(3) Chandrakanta (4) Indulekha.

64 ﬁﬁmﬁ’%%wwﬁﬁ#mﬁww%ﬁé%

(1) e @ B

(3) &H ‘ (4) TRG)
- In Trinidad the annual Muharram procession is known as

(1) Karvala ‘ ,/fQ)/Hosay

NTSE(I)/15 — SAT

Which novel is known as the first modern novel of Malayalam ?

(1) Henrietta Temple (2) Pariksha Guru

(3) Hassan (4) Haidos.
m#wmwmmmﬁﬁm&a%mwwgwm
(1) AmgR 5 - (2) wER A
(3) o o _ (4) &S T

g
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SAT-3

The proposal of ‘Non-cooperation Movement’ was passed by Congress in the

session held at
{1) Nagpur

(3) Amritsar

66.
(1) feR

(3) R@Us

(2} Kanpur

(4) Lucknow.

e 0@ 9Rd & (57 59§ EH oAl 8, o &

(2) 3T
(4) ST W

In India Tropic of Cancer passes through the state of

(1) Bihar

37" Jharkhand

{2) Orissa

(4) Uttar Pradesh.

67. ﬁiﬁ-lﬁgﬂ?-ll#ﬁﬁﬂaﬁﬁg'@aﬁwwwm:

-1

(=N

foar

(A) HIEE TRE

-

(C} HFIe]

(D) et

A B €
(1) i i iv
(2) i i iii
3) i 1il 1
(4) i i ii
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(i) 8481
(i) 8848

(iv) 8172.
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SAT.3 | | (28)

Match List-I with List-II and select the correct answer ;.

List-I - : | List-II
Peak Height (metre)
(A) Mt. Everest | (i 8598 {
(B) Kanchenjunga (i) 8481 -
(C) Makalu (iii) 8848 P
(D) Dhaulagiri A ' (iv) >8172.

A B C D

(1) di i g
@ i i i v
@) i i i
I g i v,

68. | T i WeTw & ¥t &

(1) =g ' (2)  waas
(3) wmER : . (4)
Which of the following is not tributary of Ganga ? |
1). .Yamuna _ - (2) Satlyj
3) Ghaghara (4) . Kosi.

69. Wi fuig, 2011%&3@?%&@@%%%

(1) 21.05% ' (2) 20-06"/0
B) 22:07% - (4) 19:80%.
In India total forest ar.ea as per Forest Report, 2011 is
(1) 21.05% ' (2) 20-06%
(3) 22.07% ' (4) 19-80%.

NTSE(I)/ 15 - SAT
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(29) SAT-3
70. 9RA ¥ Frg Wi § S A Tk (84 &, 9 ¢
(1) TR (2) uf¥Em S
(3) #RWEUS (4)
Which state in India has Kaziranga National Park ?
(1) Bihar (2) West Bengal
(3) Jharkhand Mssam,
71, ®R e FeE U T EEEE € 2
(1) Truaard (2) HHEhd
(3) “Aferh (4) FEHE|
Which type of resource is solar energy ?
(1) Replg:nishable : (2) Human-made
(3) Biotic Mon—recyclable.
70, ERTpUe dy g = o R ¥, 9 ¢
(1) TRt (2)
(3) Wl (4) =t
Hirakud Dam is situated on the river
(1) Godavari . (2) Tapi
_/(8’)/Mahanadi (4) Yamuna.
73. STETE HEA & |
(1) T (2) e
(3) U (4) I
Non-food crop is
(1}  Wheat . . (2) Rice
_Motton : (4) Bajra.
[ P.T.O.
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76.

SAT-3 - (30)

g o ¥ wi9-91 eile @ & 2

(1) ieamEe | - (2)
(3) Fee C(4) HETR|

Which of the following is a non-ferrous mineral ?

(1} - Bauxite : (2) Manganese

(3) Nickel : (4) Cobalt.

TR & ] U &

(1) feoedt | (2 TER

(3) foremamac= (4) STHAE |
Seaport of India is

(1) Delhi " (2) Hyderabad
(3) Vishakhapatnam . (4) Amritsar.

_.W'Iﬁ@—ll@ﬁaﬂﬁﬁwﬁaﬁmwwﬁm;

[N

geli-1 - gE-11

(A) _W‘cﬁaﬁa ’ () TEEE
B) T4 (i)
B (C)v TR ifeteRt (ili) {r=EUTA
(D) T Y= | (iv) TR

A B C D

(1) v i i iii -
@ i @ v i
(3) i Wioooav i
@) i v i il

' NTSE(])/15 - SAT

C L RET h EARIAGOTR - A

o ARG s TG RN

77.



"
4

b i b

R R R 5 T S e

e TP

LR

A I YL i e

totiel $ ot s s tacan

ratag & o

B

L1 NN

R B YE it S S

(31)

Match List-I with List-II and select the correct answer :

List-I
(A) Union of India n
(B) State )
(C) Municipal Corporation (iii)
(iv)

(D) Gram Panchayat

A B Ke; D

(1) v i i i
@ i i iv i
ﬁ/i iooivo

@) i ivo i i,

77. TIEN F1 Gg 3 S HMAT i AT HIAT E, €

Prime Minister %

List-II

Sarpanch D

(1) e o (2)

(3) ehrduTfereRT

(4)

Governor ®

‘Mayor. C

YT

991

The Government body which implements law is

Megislature

(38) Executive
78. Tt H @ A ago W T @ we ¥
{1) wﬁw{
3) . m.aﬁ@aﬂ

NTSE(I)/15 - SAT

(2)

(4)

?

(2)

(4)

Judiciary

Press.

g, HENT

mﬁmvﬁh
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85 9Rd # wfewTat # wewar = &

(1) 54% | | 2) 76%
(3) 36% | (4)  60%.

What is the literacy rate of women in India ?

| (1) 54% 2 76%
(3) 36% | (4) 60%. 
- 86. W&fﬁalﬁr%
(1) e | (2) e
@ W 4

Working capital is
(1) Computer o (2) Generator
3) Building ' (4) Raw material.. .

87. a%q fafma &1 semrwr

—

1){@#&&@1‘}@ @) amﬁtﬁa@ﬁw

() T 3y whe (4) T F v e
Example of barter exchange is -
(1) purchasing wheat with monéy (2) purchésing fruits with money

(3) pufchasing milk with money , Mpurchasing sugar with Wheat.

NTSE(I)/15 - SAT
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(35) SAT-3
88. WRA H Iuwih! T T A S a7
(1) 1986 | ¥ 1982 °
(3) 19844 (4 19887

Consumer Protection Act was enacted in India in

(1986 (2) 1982

(3) 1984 (4) 1988.

89. @ i & arifien forepre w1 e FT 3 39T W &

(1) G W SR (2) HFA UL IR
(3) dafmew g '(4) of =t e

Suitable measure to compare economic development of two countries is

(1) Gross Domestic Product (2) Gross National Product

(3) Individual income | __/(A—)/Per capita income, -
90. ot gen =Y ittt s b g & |

(1) e Y o qEeT (2) EEHR I AT TG

(3) oMy 3 w (4) ST @ ¥ET FET

Private sector’s major objective is to

(1) provide benefits to public (2} provide benefits to government

1

/fdrn profits _ (4) serve the people. .

[ P.T.O.
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